I\Iemissions

a”

Ratio to ATLAS

R/A R) din (1/2)
H
(0e]

NjetsﬂI n (
IN

N

=
o

=
N

0.8

0.6

0.4

0.2

0.5

13000 GeV pp Jets
- I I ' | ' ' ' "
- |n(1/z) (Lund plane 3.00<In(RA R)<3.33) n
— m  ATLAS -
— 7 Pythia 6.428 350 -
— ---&-- Pythia 6.428 351 i
- ¥-- Pythia 6.428 352 .
A Pythia 6.428 353 —
—  --0-- Pythia 6.428 354 -
— -+ Pythia 6.428 355 —
— @ Pythia 6.428 356 ]
B Pythia 6.428 357 .
— Pythia 6.428 358 &
— A= Pythia 6.428 359 -
- R
v-¥ i
! L | . : I l I | I l

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


